
ANEST	IWATA	do	Brasil	Comercial	Ltda.
	www.anest-iwata.net.br										contato@anest-iwata.net.br											19	3442-1123		-		3441-6920

	
	
 

AMM-712                                                     Agitador Pneumático 

	
	

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ANEST	IWATA	do	Brasil	Comercial	Ltda.
	www.anest-iwata.net.br										contato@anest-iwata.net.br											19	3442-1123		-		3441-6920

	
	
 

AMM-712                                                     Agitador Pneumático 

	
	

  

 
 
 

 
 
 
 
 
 
 
 
 

NO. PART CODE DESCRIPTION Q'TY UNIT	 SIZE	

1 AM7B AIR MOTOR 1     

2 95000300 SHAFT COUPLING 1     

3 96210606 SCREW 3   M6xL6 

4 95000401 MIXING SHAFT 1     

5 96361062 HEXAGON NUT 1   M6 SUS 3ｼﾕ 

6 96362060 SPRING WASHER 1   M6 

7 96363060 WASHER 2   M6 

8 95000350 MIXING BLADE 1     

9 97992458 SPEED CONTROLLER 1     

11 96357506 HEX SOCKET HEAD BOLT 3   M4xL10 

19 95000550 BASE 1     

20 95000560 STAND 3     

21 96350420 HEXAGON BOLT 3   M4x20 

22 96500406 SPRING WASHER 3   M4 ZNC 

23 95001080 URETHANE TUBE 1     

24 96801161 HALF UNION 1     

25 94343310 JOINT 1     

26 95000580 URETHANE TUBE 1     

27 96260666 HEX HEAD BOLT 1   M6x16 

28 96382066 HEXAGON NUT 1   M6 ZNC 

29 96995233 FOOT RUBBER 3     
30 96809453 ELBOW UNION 1   SLL062V 
31 95000570 VALVE BASE 1     



ANEST	IWATA	do	Brasil	Comercial	Ltda.
	www.anest-iwata.net.br										contato@anest-iwata.net.br											19	3442-1123		-		3441-6920

	
	
 

AMM-712                                                     Agitador Pneumático 

	
	

http://www.ec-ai.com/Content/parts_e_cb/print.html – Modificado por Anest Iwata do Brasil 


